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Choose the correct option for followin
Q1.
compulsory and carry equal marks.
1. If X is a Poisson variate and P(X=1)=
Option A: | 1 Y,

Option B:
Option C:
Option D:

2.

Option A:
Option B:
Option C:
Option D:

3.

Option A: ]
Option B
Option:Cs
Optio"‘n Dy

According to Time'shifting property of z-transform, if X(z) is the z-transform of

(n) then'avhats the z-transform of x(n-k)?

e i )
hewalue of Z 71 [(z__f)'(?_T)] s

an+1 _ bn+1

a+b
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Option B:

an+1 + bn+1

a—b
Option C:
an+1 _ bn+1
: a—h -
Option D: a™tl 4 pntt
a+b
T
Option A: { mean = 1, variance = 1
Option B: | mean = 1, variance = —1
Option C: | mean = 1, variance = 2
Option D: | mean = 1, variance = —2
8. In normal distribution
Option A: | Mean = Median = Mode
Option B: | Mean < Median < Mode
Option C: | Mean> Median > Mode
Option D: (
9.
Option A:
Option B:
Option C:
Option D:

10.

S marks each

=3
2 1 —6|,find the eigenvalues of A. Also find
. : -1 =2 0

«eigenvalues of 447" and eigenvector of A% — 41 .

14i

Eyéfuate Jy " (x? — iy)dz along the path (i) x> = y (i) y =x

Find Z{2* cos(3k + 2)},k > 0. .

The following table gives the number of accidents in a city during a
week. Find whether the accidents are uniformly distributed over a week
| Day | Sun [Mon | Tue [Wed | Thu |Fri [Sat [ Total |
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No. of 13 15 9 11 12
accidents

Solve by Simplex Method
Maximise = 7x; + 5x; )
Subject to X1 — 2Xy, = —6
E 4x1 +3x, <12
X1,% =0
Solve the following NLPP
Maximise z=-
F Subject to 2x1 ¥
Q3
A

SaIIOIS are in inches:

5 andomly chosen soldiers are:

6

the Vdi"agonal form and a diagonalizing matrix |—2
2

—Z 2
3 -1
-1 -3

" C (2z-3)(z+1)?2)
| theorem.

\ Wy 422+1 ; .
| Evaluate [ — = ___dz, C:|z| = 4 using Cauchy’s residue

z

(z-1)z-2)

Find the inverse z-transforms of

P =), |2

1.
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If the heights of 500 students is normally distribute I' with,

_inches and standard deviation 4 inches, estimate the nun

Using Simplex method
Maximize z = 10x; + 6x5 + 5x3
Subject to

Using Lagrange’s multiplier
optimize z = 4 x; + 6x3 =2
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